B.A. (E-3rd)/H/2021(CBCS)CC-6
B. A./B.Sc. 3rd Semester (Honours) Examination, 2021 (CBCS)

Subject : Economics

Paper : CC-6
(Intermediate Macroeconomics)
Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in
their own words as far as practicable.
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1.  Answer any six questions 6x5=30
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(a) Discuss Net Present Value (NPV) criterion of investment.
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(b) Explain Friedman's restatement of quantity theory of money.
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(c) What will be the effect of change in money supply on complete Keynesian model?
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(d) What do you mean by inflationary gap? State its limitations.
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(e) Explain briefly the dichotomy between the real and monetary sector.
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(f) Describe fixed acceleration principle.
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(g) Define adaptive and Rational Expectation.
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(h) Write a short note on foreign trade multiplier.
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Answer any three questions 3x10=30
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(a) Define Marginal Efficiency of Capital (MEC). How is optimum capital stock determined
by using MEC schedule?
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(b) Explain the effects of fiscal & monetary policy under flexible exchange rate in Mundell-
Fleming Model.
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(c) What are the differences between demand-pull inflation and cost-push inflation? How is the
Philips curve related to aggregate supply?
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(d) Explain neutrality of money in Classical Model.
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(e) What are the assumptions of Harrod-Domar model of economic growth? With reference to
this, explain knife-edge instability. What are the key limitations of Harrod-Domar growth
model?
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